Math 3 Geometry Part 1 Study Guide Unit 6
Directions: Find the value of each variable. Then find the measure of each labeled angle.
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Dlrecﬁons Name two triangles that are congruent by ASA. @3’
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Directions: Would you use $SS or SAS fo prove these triangles congruent? If there is not enough information to
prove the friangles congruent by SSS or SAS, write not enough information. Explain your answer.
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8. Given: BD is the perpendicular bisector of AC A
Prove: ABAD = ABCD _R
Statements Reasons D / B

1
1) Given IiJ/

2) Definition of segment bisector c

1) BD is the perpend|culor bisector of AC.

2) AD = CD

3) ZADB and £CDB are ngh’r A, 3) Definition of perpendicular
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?  Given: ZPand ZM are right angles.
R is the midpoint of PM. P
Prove: APQR= AMNR
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Directions: Find the values of the variables in each parallelogram (14 is a trapezoid)..
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Are the following parallelograms? Explain why or why not. (For example, draw or state a counterexample if not.)
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Point T is the incenter of APOR.

25. If Point T is the incenter, then Point T
is the point of concurrency of
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2. sT=__|4 -

27. TU=(2x - 1), find x.
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29. If mZRPQ = 62°, then mZRPT = 3! o
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Point G is the centroid of AABC, AD =8, AG=10, BE=10, AC= 16 and

CD = 18. Find the length of each segment.

30. If Point G is the centroid, then Point T

is the point of concurrency of

the m‘édl Qﬂ3

31. DB=_ % 32. EA=
33. CG=__ 1 34. BA=
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